1.11   Solving a System of Equations with Matrices:

Given:          
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We can write this using matrices,  such that:
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To solve, we must isolate the variables matrix  (here, called  X )

Side Note:
We know that when we solve simple math problems like    
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,   we must use the inverse operation of multiplication to isolate x.  

That is, we multiply by the multiplicative inverse of  4, or 
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 on both sides of the equation.   


[image: image9.wmf]1

4



 EMBED Equation.DSMT4  [image: image10.wmf]1

420

4

x

×=×

     in order to get   
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 Note, this works because 
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    , the Multiplicative Identity.    

To isolate ”the variables” matrix  (
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), we need to get rid of matrix 
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.   We will multiply 
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 by its inverse, or   
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First, find 
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Multiply each side by the inverse of A, such that   
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             Or   x = 2   and    y = -3
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